EARAROBEEIERT — 2 N— IBISH —F

2

019510830 (K) 13EIFIRI3H

M 3mllEC4—8 C4 H5%—#% ‘ (xfg] £ ‘ [REmshE] — | & (&) 10000 B
[AE£] 1% :250,000 ™ ~ 23#%&:50,000"  33&:38,000H  47&:2500MH ~ 57&:12,000H
B ®RB mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N B3 | BT 1:03.0 4-4 8.2 — 2 416 |MBE— (dtimdE)
1 o | AU 54.0 (=) 0 |KamEx -
4o BiI YL ay e HiE
o $ FHERE :03. = . — HEePE (dbimE)
2|5|5|Fryary IR I 56.0 (11 013/23) 56 979 1 %? i(/EE?&E -
XL THANAN BI—S % =T FERS
o AN AR A E :03. — . - IHAFIR (AtiEE
3l8l10/ NvE—KRT b s 5.0 1(02337 6 %5 > 3224) MRE— e
AT RIAY By FEALb R R—
S . = IR S : - - MHEXE (AtiEE)
41717 3RE2—T17 s 54.0 1'%'5 2 0.0 ! (T) =EEE e
LN—HNK B:790575%y b HE HR
- NEFRS :04. - . — 1EREREE (At
5l1lq|77=2r3511 4 3 N 1(3%1)6 -1 40.1 7 (3;0) - B8
LY oIFUAL BT TINELZ BEZL Y K
o 43 | B3t 1:04.8 7-8 39.3| — 6 514 |EARHR (tiEE)
6 4| F—>EL 56.0 1) 6) SG5y T 2R IA b ()
RHIRG 4 TTX BiA—IRI—%A b 55 Kt
N . . BHET :04. = . - AARE (teE
7 3| Trenaxn it 6 S 1(7011:? 5-6 39.7 8 (4;2) ﬂ};% BE
LY IRGTA TSR Biov N AF =T X GEESINE -2 )
L HEL TS Atz : - - NEigfT (LimE)
8 NEDZ DS ELP 4 3 2l 1.(025).3 2-2 40.8 3 :26) ;é;gg;;;r g2t
R:xg—Y>s0—-x B:7534¥3>KY A AR
- S f 3 | AMEEE 1:06.7 10-10 [39.3| — 10 | 496 | EBAZE (dtimE)
9189 i e e 54.0 @) (o) | BAR .
L E—E—HNEL B:FRUTLIR HET 7 — L
SR IS FEES :06. - 6| — AORME (sd)
wolzlg| 75155 4— T [ A ° | e T T
L:xrinao— B:Y—HIFv b AR I
® 1 — @B
13—7-—
2a=5"=
Ja=5= 1,6,7,2,3,10,4,5,8,9
43—+ — 1,(6,7),2,10,(3,5),4,8,9
[ /N
B OB 2 230M 74K 2-5 120 B 2-5 130 JEE 2-5-10 430
# B 2 1004 2-10 250M B & 2= 140H JEE 2-5-10 1,360
5 1004 5-10 260M B E 2-5 330M
10 110M

ABICOVWTRDTEEERROODE. TR LIV,




